CEE 451G
Homework Assignment 2
This assignment involves the establishment of certain identities for use in vector and tensor analysis.  The assignment begins with a vector identity that is established in any standard text on vector analysis:
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1.  Use the above identity to establish the identity
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In order to do this you need to remember the cyclic nature of (ijk; the tensor is positive when i, j and k follow in clockwise order (1, 2, 3; 2, 3, 1; 3, 1, 2), negative when they follow in counterclockwise order (1, 3, 2; 3, 2, 1; 2, 1, 3) and otherwise is equal to zero.  Thus for example (ijk = (jki = (kij = - (ikj.  Also recall that (ij = 1 for i = j and otherwise = 0, so that (ij = (ji.
2.  Show that the following vector identity holds: for any scalar 
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(3)

3.  Use the results of part 1 to establish the following vector identity:
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